Alcohols: Nomenclature
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Give the IUPAC name for each compound.
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Draw the structure for each compound.
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2. 3-methyl-2-pentanol |
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Draw the structure for each compound.
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1. 3-heptanol
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2, 2-methyl-3-hexanol



Alcohols: Nomenclature

1. Name each alcohol and classify it as primary, secondary, or tertiary.
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1. Is isobutyl alcohol primary, secondary, or tertiary? Explain. i;g - wmery - ) - pripan /
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2, What is the LCC in 2-ethyl-1-hexanol? What is taken as the LCC in naming the compound?

a. CH3CH2CH3CH7CH2CH20H
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2. Name each alcohol and classify it as primary, secondary, or tertiary.
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3. Draw the structure for each alcohol.

a. 3-hexanol
b. 3,3-dimethyl-2-butanol

t. cyclobutamol
&, Draw the structure for each alcohol.

a. cyclopentanocl
b. 4-methyl-2-hexanaol
. 4,5-dimethyl-3-heptanocl
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